King Fahd University of Petroleum and Minerals
Department of Mathematics and Statistics

MATH 201, Exam II, Term 173

Duration: 120 minutes

VTN SO0 e

e - - SR
Name: D Number:
Sectionn Nwunber: ~ Serial Number:
Class Time: o lustructor's Name:

Instructions:

1. Calculators and Mobiles ave not allowed.
2. Write legibly.
3. Show all vour work. No points for answers without justification.

4. Make sure that vou have 7 pages of problems (Total of 7 Problems)
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1. [44-10 points] Consider the foliowing planes
P24y -z=2
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(a) Find the distance from the poiut (2. -3.5) to the plane p;.
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(b) Find paratetvic equations for the line of intersection of the planes p, and po.
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(a) Find an equation for the trace of the swface in the ry-plane. Sketch the
resulting equation.
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(¢) Identify {name. vertex(ces), axis) awd sketch the Surf‘dC&\; [
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In(4 — 22 — ¢?%)

3. [1@ points] Fiud aud sketeh the domain of f(z,y) = i )
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4. [647 points] Find the limit, if it exists, or show that the limit does not exist
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5. [§+6+% points]
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(a) Let wle.y) - (e + ¢ Find w, (0, y) 4wy, y).
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-2 sin(yz) defines 7 implicitly as a differentiable function
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6. [6-+12 points]

{a} Find an equation for the tangent plane to the surface z = xe®™ at the point
| ) ] p

(2,0,2).
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(b) Find the lincarization of frog.z) -
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7. [lﬂ,points] Let fleoy) % 4 ry' Find the unit vectors @ =< u;,u > such
that Dz f(1.-1) - 2

- | P ooy, P> = AN, 3y
@ L N Ouy 2O Iy ey = SR T B X0
G g F (e = Ly 3
We S.lve Ma S_‘j:‘k"“ ST
e Va2
y = St -W =
g D-;) E UJ )=t \ j X
uy g =0 - ®
- )ﬂ 741—?—3141:2" ety
0y iy Uy =
i S 12U, 44 + =
R s -

— lUH:-#Izuz ‘:3 = e o
\ " 1y 4y MY =) B
S U = TS

\\ -njﬁ“ﬁ i “_{_'LI E_ @

= Zo !C
_ 2 =3
e T R L ___B_L
U, = 3 L T X
e — e \{E @
7 —2 386 e
~y A= e i TS
(e
’ -2 +35N
% 4346 et
—e-le oy LIRS o
. ,le = R ' ie —
o Le-Ve .
o gmasle, 225 @
- W - o i C



